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ALOE 6,000 [#ROM 6,000 [sRO# 1,000 |EO%E 5,000 (O3 1,200
7O 16,000 [# OB 44,500 |SRO#E 2,000 |EOF 10,500 |O= BO=& 7,200
FO%E 2,000 |*O%E 4,000 |5RO%= 4,000 [EO% 2,000 [#HO® 6,000
FOK 5,000 [#ROE 6,000 |5RO18 8,000 |ZOE 4,000 |82O%Hh 5,500
FOFE 6,000 |#OH 10,800 |2R O 10,000 |EO& 12,000 [EOZE 2,000
FO# 2,000 |#*Ox 2,000 |#O= 8,000 [EO% 6,000 |EEOE 300
FOK 6,000 |[#ROF 2,000 |FFO%E 3,000 |EOB 27,000 |ZROM 6,000
FO% 100 |MOR 29,634 [FFO#t 11,300 |=OH# 6,000 |Z&OIE 1,000
HOE 1,800 |HO%= 500 [FFO# 6,000 [&2OH# 7,000 |#O3E 300
KOE 2,000 [HOHiH 250 |FBOH 24,000 |=OZE 500 (& O 2,700
STOFE 500 |#O% 2,000 |ZBOHE 1,500 2O 6,000 [#xOE& 1,200
STOHE 708 |MO= 6,000 |EBOE 5,000 O£ 1,000 |EFO# 500
SIOH 3,000 [#OXK 500 |BEOR 500 |BOR 3,000 [EEWA 33,605
OB 2,000 |#OE 4,000 |BRO=E 14,400 [ O= 2,000 |BEERPE 2,000
O 5,000 |[#ROR& 800 [FEOE 10,000 (%08 O 4,000 |EO0ATL 9,900
IIO%a 24,000 |#O& 3,000 |BROH 2,500 [BO8 HO0% 6,000 [EOALT Z82 4,521
SO 3,000 [EBO# 10,000 |BRORE 1,000 15O 150tk 2,000 |[EOAL(EFB 4,000
R08 5,000 |EBBO#E= 1,000 [EROZ& 1,500 |%50O78 3,000 [ZExErzsEeEd 1,000
=02 4,000 |EBBO%ZE 360,900 |FRO% 12,000 |EOH 500
=O% 11,300 [EBOZE 400 |BRO= 500 [BO# 4,700
=O% 1,000 [BBOZ 24,000 [FEROM, 6,000 [EOE 7,200
RO RO&E 500 |EBOE 174,170 |BRO%E 1,000 |BEO% 2,000
SO 4,000 [#kO% 100,000 |BRO= 15,900 |BEOM% B8O% 4,000
=O= 1,006 |MOE 8,000 |BROI=E 500 |BOX 07T 4,000
20% ROR 1,000 |MEOZ 14,350 |BROMH 6,000 [EOX% 80%| 2,000
=05 100,000 [#O%H 1,000 |BROER 2,000 [BIOZR 13,000
=03 1,000 |#O% 2,000 |BRO%m 2,400 |B1OE 2,000
RO 2,000 [#O7m 170,930 |BROEE 30,000 (810 600
FROE 2,700 [£OZE 10,000 |BRO15 6,000 [B1O= 12,000
FROE 500 |HOX 500 |BBOE 1,000 |=O1E 21,300
ROZE 25,000 [(BO& 3,400 |BRO 1,800 |’&O3 29,038
FO= 10,000 [3BO= 9,100 |FROHH 3,000 |/EOE 3,000
EAOLES 22,000 |EOE 9,000 [ERO® 500 |20 1,000
FOE 1,000 |EEOTT 36,000 |BEOZE 2,000 [EOR 1,500
=AQF 500 [ O% 1,200 |BROK% 1,000 [BEOE 4,000
Z0OX 12,000 |01 1,000 |BROZE 3,000 |EO®R 800
=A@ 3,000 [#ROE 24,000 |BEO=E 12,000 |22 O= 12,000
=A@ 3,600 [fROE 500 |FRORK 1,700 |BBOJII 6,000
=0 3,000 [(ROF 200 [FERO K 2,000 [BOZ 5,000
HOZ 6,000 [ O% 500 |EOM 24,000 |E8OE& 5,000
HO% 3,500 |BO® 1,000 |Z O 6,000 |ZFO% 500
OB 3,000 |B0O% 1,000 |8 O 6,200 |EOI 500

FOE 4,200 |BO®’ 2,300 |2 OB 39,458 |BOXRK 3,000




WHOF: 2,000 |5ROTF B3O 14,000 |Z O 15,000 [BBOAH 6,000
OB 4,000 |5RO 1,000 [#O1E 50,000 |ZBOR 1,000
BO& 2,000 |3ROAD 3,000 |EOE& 36,000 [EFOZE 1,000
BOII 500 |sRO#E 1,000 |EOE 2,000 [EO% 3,200
BO=R 300 [sRO 2,000 |[EO= 2,300 [FEOE 3,000
HOLL 600 5RO 350 [ZOW 3,000 [BOE 1,000




X BOERAEBENIBE

EERRBEM TER
KNNEIEEARAT 120,000
[ERI=)=E73 - Ean 74,633
X BRI EANREBRAT 6,600

BBERERNBRAS 60,000
KRIBBEER N BRAS 400,000
EERERNBRAT 100,000
RE—FEIE 1,000
TREER 500
RERKRNBERAT 120,000
MEEANPEEELEER 24,000
MEEANGHIRITAnEESESS 120,000
MEEANSRGENH A mETE 20,000
MEEABRESE 100,000
MEEANEBEYRKESS 1,000,000
MEEANEBHEERVENESS 700,000
VMEEABRHEZESE BEHEYE) 152,000
MEZEANEHE=ETS 50,000
MEEANEBMENSRIZSSEESS 400,000
R EFHERTRAUE LR EIEESES 60,000
SEARAT 60,000
TRAmBRNBRAT 30,000
YN 860,000
ERERERNERAT 90,000
EMREUTERNBRAT 60,000
Hﬁi%%ﬁﬁﬁ/\ﬂ 12,000

EMEBRAT 3,500
BEEXFRAT 18,000
BREEFREAT 1,500
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